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void ChangeOctal (int num, int octall])

{
int  base[] = {512, 64, 8, 1}, i;

for ( | a ) |
octall[i] = | b |§
num —= octal[i] * basel[i];
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7 basel[i] / num
7 num / base[i]
4 octalli] / basel[i]

basel[i] / octalli]
num / octall[i]
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Szaiko Izaiko Ozaiko

(0] | PH&HA DTEESKL (0] PodhA DAL [0]] PsidhA DHEEL
[1]| PH&hB OTEESK (1] P&dLB DA [1]] PsidhB D HEEL
(2] | PH&HC DTEESKL [2]] PEdLC DAJEE [2]] PsidhC DHEEL

(2) 7n 7T AE, WERRROEREEZS B OANER L HERTEHRL T, 5 HEA
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void ZaikoUpdate(int Szaiko[], int Izaiko[], int Ozaikol[])
{

int i;

for(i =0 ; i <50 ; i++) |
Szaiko[i] = | a |§
if(Szaikoli] < 0)
Szaiko[i] = | b E
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a, bICEY SREERH

0 A Izaikoli] + Ozaikol[i]
Izaiko[i] - Ozaikol[i] T Ozaikol[i] - Izaikol[i]
Szaikol[1i] 51 Szaiko[i] * (-1)

Szaiko[i] + Izaiko[i] + Ozaikol[i]
Szaiko[i] + Izaiko[i] — Ozaikol[i]
Szaiko[i] - Izaiko[i] + Ozaikol[i]
Szaiko[i] - Izaiko[i] — Ozaikol[i]
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(2) BASNT-HEEOBHEIE, B inputi 2SN TV 5,
B, MASNIE&EN, EhOMiEE Fhlb 2 &,

input[0] | 1000F9 £ D KcEL
[1] 500 151 DHEE
[2] 100 98 DKtk
(3] 50 s DO RCEL
(4] 10 &1 DR

(3) #Ek L L ORAT 2 8B OKEZ, B output IZHMNT D, ZD L&, kA

TLEWDOEFHEE TE LT VLT 5,

output[0] | 1000 &i#s DKL
(1] 500 578 D KE
(2] 100 15 D Fctk
[3] 50 1 £ DAk
(4] 10 51 DR

(4) HEERFEEIREF L TV A 8IBH O BB oS, B ofEnc, KikEHT
b HESstock TSN Z AL D, stock [0] DFTHUIEIX0, ZALLIA D stockDESE D))

HEIx10L 45,
stock[0] | 1000 & DM I
(1] | 500 s DFEK
(2] 100 & D Fcdk
(3] 50T DR
[4] 10 £51% DB

(6) MASINTZEEEL, KIELIEOS#EE L THWD720I1Z, B stock (IZNZ 5,
(6) EVfEE L TROMEEIET,
—1: $ERENDHE
0: A EDOLHE
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#define TBLSIZE 5

{1000, 500, 100, 50, 10},
{0, 10, 10, 10, 10};

static int  money[]
stock[]

int VendingMachine(int price, int input[], int

{

int change, k, paid, retval;

paid = 0;
for(k = 0 ; k < TBLSIZE ; k++) {
paid += input[k] * money![k];
}
change = paid - price
if (change != 0) {
for ( | a D |
output[k] = | b |;
if (outputl[k] > stock[k])
output[k] = stock[k];
change —= output[k] * moneylk];

}
if (| c 1) |
for(k = 0 ; k < TBLSIZE ; k++)
output[k] = inputl[k];

retval = —1;
} else {
for(k = 0 ; k < TBLSIZE ; k++)
stock[k] :| d
retval = 1;
}
} else {

for(k = 0 ; k < TBLSIZE ; k++) {
output[k] = 0;
stock[k] += input[k];

}

retval = 0;

}

return retval;

output[])



